
1) Kein Geldwerter Vorteil
Bruttolohn 3.000,00
zu versteuerndes Einkommen 3.000,00
Lohnsteuer -600,00 
Nettolohn 2.400,00
Auszahlung 2.400,00

2) Firmenwagen aufgeschlagen auf das Brutto
Bruttolohn 3.000,00
Geldwerter Vorteil 500,00
zu versteuerndes Einkommen 3.500,00
Lohnsteuer -700,00 
Nettolohn 2.800,00
Geldwerter Vorteil -500,00 
Auszahlung 2.300,00

3) Gehaltsverzicht entspricht
Bruttolohn 3.000,00 2.500,00
(Geldwerter Vorteil) 500,00
zu versteuerndes Einkommen 3.000,00 3.000,00
Lohnsteuer -600,00 -600,00 
Nettolohn 2.400,00 2.400,00
Geldwerter Vorteil -500,00 -500,00 
Auszahlung 1.900,00 1.900,00


